Rajasthan CET 27th Sept Shift 2

e in the world ?
1 Which of the following is the largest inhabited riverine island mM '\::““
(A) Doab ) o
(D) Marajo
(C) Umananda
(E)  Question not attempted
et 2% 2 g r wredt s v o A wR?
& @) e
(A) N . W(ﬁﬁ
(©) 3IuEer )
(B)  gal@aws
2 Which of the following river is mot a part of Indus River System ?
(A)  Satlj (B) Chenab
(©)  Kosi (D) Ravi
(E)  Question not attempted
ﬁwﬁ%%ﬁﬁ:ﬁﬁqwammﬁmwmmﬁ%?
(A)  wags (B) A
©) = (D) T
(E) Igaiawy
3 Which of the following Lake is rot a Saline water lake in Rajasthan?
(A)  Pachpadra (B) Sambhar
(C) Didwana (D) Pichola
(E)  Question not attempted
'ﬁnﬁ%na@mnﬁa%uﬁ@a@ﬁmﬁdﬁﬁamﬁ%
(A) T ®) W
(©) Sr=am @ Rt (Rt
(E) Srgafaws )
4 Which of the following is the application of computer mostly used in medical fielq9
(A) To provide assistance in surgery (B) To create a o )
C To-visualizs 35 gby 1Sement
©) o v1s‘ua ize objects (D)  To provide distance eq 3
(E)  Question not attempted ucation
ﬁmﬁ«ﬁ?aaw%wwﬁw-mwﬁhng@m Tarfeheefrr & & weiferg
fafsraar i ' ®
(A) rea faferear § gemar & ®) £ =
(©) 3@1@@3{«@@%@ D) ﬁnmi S
() af@uz . * e S ey
5 Which of the following is not
1,' ot the class/category of computers?
(A)  Parallel Computing ® .
(C)  Mini Computer D) Mlc.ro Computer ‘
(E)  Question not attempted (D) Mainframe Computer
ﬁtﬁﬁtaﬁﬁéhlﬁmmmaﬁam%mamﬁ§? :
Hrere wPgfén
(A) (B)  WIERY ey
© foreft SIE’.’I ' (D) WW
(B) rfaid .
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Which Indi
ian has won the 2023 Ramon Magsaysay Award? (Choosc the most appropriate option from below)

(A) RaviKannan (B) Kailash Vidyarthi
(C)  Ghazal Alagh ) (D)  Gautam Adani W0
(E)  Question not attempted ;,,
%HW&ZOZ}WWMWWWﬁﬁWWW@ it
A) TE i_ @) e foramedt
(©) TV H™ c’_\; (D) v e :fj
(E) SgEi@sd , v
i " o
Critical Minerals Summit 2024, was held in which of the following city /U.T.?
(A) Chennai O (B) Mumbai \O
(C) New Delhi ™ (D) Kolkata Ff}
(E)  Question not attefnpted ;:
oot Rrea aRiem i) 2024, Fre wrat /e s i omafer fire 2 0
(A =+ © ®) T Q
© ket (D) e _:_:
(B) uiEwd o
W O
The famous speech by Pt; Jawahar Lal Nehru, addressed on the midnight of 14-15 August 1947 is called
- (A) Tryst and Co-operation (B)  Tryst with destiny =
© Trie;d with dest%; (D) Tryst with honesty :;’;
o

(E) Question not attempted
14-15 3T 1947aﬁmmﬁ$}qﬁmmmﬁa‘6mﬁm T SRg, ITHOT ShaT STl &+~

) fre wE - B) Refmfedh i
© s s D) fr= e )
G 0o
(E) Sq@a¥T o
The cities that were di{ijed into communal zones during the partition of India were- i:i
(A) Lahore, Bihar afid/Calcutta o0
(B) Lahore, Amrits{:énd Hyderabad O
(C) Lahore, Amritszgv?nd Calcutta . :
(D) Amritsar, Calcutta and Jammu & Kashmir
(E)  Question not atfempted T
ma'ﬁwma;aﬁrﬁﬁrmmahﬁﬁﬁzmme}- M
(A) @R, faer A T ?:‘i
m m ?m g‘\s
® 35'1 ' X0
(C) @, AqaEt ATHFA P
(D) | TR, FerEAr S A I ]
® omhaza -
3
[ P.T.O.

Al ®
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10 Given below are two statements:

.. he chairmanship of
Statement (I): In April 1919, the Udaipur state govenment formed a Commnssu.nn‘ under t CThc Comiszion
Mandalgarh Hakim Bindulal Bhattacharya, in order to listen to the Complaints of Bijolia farmers. {
advocated various recommendations for the benefit of the farmers. ' ) T M—
Statement (I1): Officers of the Forcign Ministry of Indian govenment believed that a quick alliance s

: : in Rajputana.
with the Bijoliya Kisan Panchayat, otherwise the peasant movement may take a violent form in Rajpu
In light of the above statements, choose the most

appropriate answer from the options given below.
(A)  Statement (I) is incorrect but Statement (ID) is correct.
(B)  Both Statement (I) and Statement (11) are correct.
(C)  Both Statement (1) and Statement (I1) are incorrect.
(D)

Statement (1) is correct but Statement (11) is incorrect.
(E)  Question not attempted

i< 3 ém%l
STUH FIA & mﬁ,ﬁﬁmwﬁ%mmmgﬁi
(&) =+ () 7o & S T () R B) =\ Q) ARwwE () R I T
©) =1 @) AR FE (1) I & e D) T D) TR I T () TeE
(E) SrgaRaws
11 Which of the following is not a type of Iron ore?
(A) Lignite (B)  Siderite
(C) Limonite (D) Magnetite
(E)  Question not attempted
Frfafe 34 2 de swes s yen ad
a) famme (B) e e (Rduee)
©) fodrme (D) T
(B) wqaf@wm
12 Which of the following is an example of joint sector industry? (Choose the most Appropriate option from below)
(A)  Bharat Heavy Electricals Limited (B)  Hindustan Aeronautj cs Limtied
(C)  Oil India Limited (D) Steel Authority of India Limited
(E)  Question not attempted
Frerfefiaa # & 1 a1 s e @1 o sarew 2 cﬁnﬁﬁw&mgmﬁmgi&)
(A) ¥ & sefazaed fafies ®) ez Wi fafre
~#€) e ifew fafare (D) Gﬁawﬁﬁa3ﬁsﬁ§nﬁﬁﬁg
(E) wquafaygy
13 Which of the following is a mineral-based industry?
(A)  Food Processing Industry (B)  Textile Industry
(C)  Fish Oil Industry (D)  Petrochemicals lndus"}.
(E)  Question not attempted
frafafaa & & == @ afis st DI gy
(A) T TEER Te (B) awIUm
e S TR 3y
©) i
, I e
® q "
Al &

[ P.T.O.
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STUDY247. 1 N



=
%
V3

14

s

o

®

5&/’0" S"o

The average of 11 observations is 50. If the average of first six obscrvations is 40 and the average of last six
observations is 55, then the sixth observation is:

|| STt T 3Ea 50 {175 e W sracat # it 40 &, af sifer @8 st w1 s 558, @ v e
2

A 35 (B)y 30

() 40 P 20

(E)  Question not attempted / 37w w1

The length, breadth and height of room arc 12 m, 9 m and 8 m respectively. The length of the longest bamboo pole

15
that can be placed in it, is:
(A) 15m (B) 19m
(©) 18m (D) 17m
(E)  Question not attempted
e FACT 12 T, 9 oy <et ofi 8 ft S R it Tl S e ATt A o g8 stfereran g Fma I |
(a) 15 (B) 19
© 187t ) 17dt=24?
(B) IrgaR@w
16  The inner circumference of a circular path around a circular lawn is 660 m. What is the radius (in meter) of the outer
circumference of the path, if the path is 14 m wide?
(A) 84m (B)  110m
(© 119m (D) 115m
(E)  Question not attempted
@Wm%aﬁaﬁtaﬁmﬁﬁmﬂmv&& 660 X 1 afe g 14 *fiex <veT 8 o gahT amer fefyr i e,
(e &) Far grfe
(A) 84t (B 1107
_© 119X (D) 115X
(E) rgaiaw
17 A shopkeeper sold an article for ¥ 400 at a loss of 20%. At what price he should sell the article to make a profit
of 10%?
T THARR I fort g Y 20% @ T 400 3 STl 10% T T AT B R, I8 3@ awg R FEE W
SR
(A) T530 —~AB) 550
(©) T 500 (D) 520
(E)  Question not attempted / ﬂﬂ'ﬂﬁﬁ q4q
18  Who of the following social reformers was associated with the abolition of Sati Pratha?
(A)  Govind Ranade (B)  Vivekanand
(C) Dayanand Saraswati (D)  Raja Ram Mohan Roy
(E)  Question not attempted
ﬁq%ﬁmuma@mmﬁﬁ#hﬂﬁ9m3ﬁ§?%“m§%?w”
A) fERTmR (B) ez
(©)  zarE e (D) TSI 3 Ty
(E) ergafa wu
Alll & 8 [ P.T.O.
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19 “The Indian War of Independence”, book was written by whom?

(A) Veer Savarkar (B) Mahatma Gandhi \a

(€©)  R.C.Majumdar { (D)  Baba Amte i.:’f

(E)  Question not attefipted A

2 e Tt ofis S e fasadks gu ferft md [

(A)  dRHEER f“ (B)  wereHr feft 4]

C) W, HopRR f"; (D) @ e *v}

® sgwwa 2t

™ "]

20 ETH N F-91 A A 2 \D
(A) T Y uta 2Rt o ute e R (B) T oy iter aht = o s farel
(€) Wﬁmm%wwﬁ%m (D) ST %1 U et 71 e At ek

® emefawr tﬁ

@ o

21 1 e 1 e it -

@-I ™ 4 'Hjﬁ-n o

a. mmﬂ .  EdWEAT

b. WA A AT . S T ST HTET ?_{;’

c.  wiQTYHAT) ' n.  afer ﬂ:

d. ma@ﬂtﬂm v, St am ™

:ﬁ%ﬁtmﬁmﬁ%uaﬁmwgﬁmmwﬁﬁq ¢o

49 a-ILb-1V,c-Ihd-I (B) a-NLb-Mec-Iv,d-1_ &

(C) a-IV,b-ILc-Id-1I (D) a-1,b-1V,c-II,d-1I :——1

(E) wuf@wa T :
O : kﬂ

22 At the time of India’s Ifidependence, how many Riyasat were there in present day Ra_jasth'm (Ra_lputana Regi
(Choose the most approprlate option from below)

m@rmmﬁiﬁqﬁ T & TR (TSTYETT &%) H feherft frame off 2 (ﬁqﬁﬁmmﬁmﬁ)

(A) 29 o B) 19 O
() 21 -~ D) 25 r‘*:
(E)  Question not attempted / ST T o
23 ‘Indian National Army’ (}NA) was created by- (Choose the most appropriate option from bdlgiv)

(A) Netaji Subhash Ql;xgndra Bose (B)  Lala Lajpat Rai (4g]

. D) Bal Gangadhar Tilak =

Bhagat Singh { (

© g gh i [~

(E)  Question not attémpted

\ 4]
.zﬁm%mmrﬁ"(ﬁ@m.maﬂmﬁmﬁmﬁﬁmnmwr(ﬁwﬁﬁmmmﬁ)
—HA) mwmaﬁ{r‘ (By I S o
© o wimhe
(E) m@ﬂft’dﬁ’a
| 6 p.T
Al ® [
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Match List-I with List-II.

24
List-I List-11I
a.  Chipko Movement 4 Afro Asian Conference
b. Bandung Conference 1. A proposal made by big industrialists in 1944
for setting up a planned economy
c. Dr. P.C. Mahalanobis II. An environment movement to prevent cutting
down of trees
d.  Bombay Plan IV.  Economist under whose leadership the Second
Five Year Plan was drafted
a1 & = -1 6 firem fifsmg
Feft-1 w11
a T sride L o o e
b. SgTEREH L e Pt sreleraee s i & g 1944
§ w2 Seirraferd ERT foram AT O e
c. o meeEE L et e e & T we wataer vidie
4. dRwH rv. snhd s Yge  gal deaea dre
8 wEiteT I fema T o
Choose the most appropriate answer from the options given below:
£ R e et # & watfers I9g® STl
(A) a-ILb-TLc-IV,d-1 "~ ®) a-Lb-NLc-IV,d-II
(© a-1I,b-Lc-IV,d-1II D) a-NLb-I,c-IV,d-1II

(E)  Question not attempted / STFART T

25  In which of the following year United Nations adopted the UN guidelines for consumer protection?
e e 3 P 2 Frer i it s 3 o s v 36 R et =t sy
(A) 1985 B) 1979
(©) 1981 D) 1983
(E)  Question not attempted / TG F

26  Which among the following organizations control the business of Insurance in India?
(A) SEBI (B) RBI
(C) LIC - (D) IRDAI

(E)  Question not attempted

ﬁmfaﬁaaﬁﬁﬂ?@ﬁ@immﬁﬁmszﬁﬁaﬁﬁﬁﬁam%?

A) & - (B) RS 3.

(C) ud. . 4. _ (D) IE IR . w o,

(E) rgafauy ' -
27  Who s the head of the Indian Audit and Accounts Department?

(A)  Attomey General of India . (B)  Finance Minister

(C)  Comptroller and Auditor General of India (D)  Prime Minister

(E)  Question not attempted

SRR S whte i e favp & @ FH €7
(A)  ¥RA & HERIRET (3T ) (B)
©) T % b v wgreraa e (D) wurH
(E) Jrafiawsr
aul @ T (PTO.

STUDY247. 1 N



28 Which of the following is not a COnsmuuonnl post? ‘A'i:’
(7} (B)  Governor (v
(A)  Speaker . . 5,
(C)  The Chief Justice ™ (D)  RBI Governor .
(E)  Question not attempted ™ [~
ﬁnf%wft-raﬁﬁa*hmqsrmm%‘m#ﬁ%? 00
(A) oo e ety - (B) TSA9IS -
(© &I =manfiy ™ (D) 3 7 i
(B)  orafw wx ™ ™
29  Asper the Constitution oflndl'\glhc name of a state in the Union of India can be altered blY =
(A)  Parliament ™ (B) Cabinet Committee ’.!j
(©)  Governor : - (D)  President 88
(E)  Question not attempted
m%vﬁw%ﬁm mu@%wwwmﬁmﬁﬁaua&wmﬂﬁaﬁﬁm?’m%”
(A) o (B) ifmiza afafa uj
© mw — (D) Tgfa o
(E) rgaiawa i
i ol
30 Identify the most appropriate English translation of the given sentence: ’
E IS AT T @ o R et g e e
(A)  Fresh air can be had onlyButside. ~B)  He came out to eat a little frésh air.
(©)  He came outside for a breath of fresh air. (D)  He gulped some fresh air ?{Et?side.
(E)  Question not attempted L™ :\‘
_m L
31 Choose the most appropriate Hindi word for - “Endorsement”. oo
(A) ST pel B) WA FET C
(C) g8 FHEAT vl (D) WREFAT v
(E)  Question not attempted L3
32 Which of the following best dek\é'ralbes the function of control unit? e
(A)  Perform the arithmetic ope’rahons m
(B)  Control the operations of_@emory, processor and input/output devices, =7
(C)  Perform the logical operations. >
(D)  Convert the external data-fp form understood by computer. o
(E)  Question not attempted ) i':*,
P 1 1, 3ier g Sy et s ok e 8 —
(A) ST afamer Ao ‘m‘
(B) wﬁﬁmﬁmaﬁtrﬂm{waﬁwﬁ%mwﬁwm
(C) T aftare &1 F-{W \O
(D) a@@?ﬂﬁa)maﬁmﬂqﬁ@mﬁqﬁaﬁam ™
(B) ergaf@uyg = <
33 Khadi Kamgar Arthik Protsahdn i{o_)ana has been implemented in the Rajasthan state fro l::
(A) 16 July, 2024 < (B) 13 July, 2022 0
(©) 14 July, 2022 v (D) 15 July, 2023 o
(E)  Question not attempted ™ ™
TSP US4 3 1t swre sifefes siveaveet aivsr gy st 1 ™
(A) 16 @E, 2024 (B) 133, 2022
(C) 14, 2022 (D) 15, 2023
R :
Al ® 8

L ——— I B ——
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34  Match List-I with List-II :

List-I List-11
Scheme Launched
a. Shudh ke liye youdh L 26 October, 2020
b. Nergl Rajasthan Abhiyan 1. 18 December, 2019
c. Incﬂra‘ Rasoi Yojana [II. 20 August, 2020
d. Indlra Gandhi urban credit Iv. 24 Februaf)’- 2021
card yo;ana P
el 35 e 1L o v <hifre -
il i Tl o
!ﬁvm'_r ; T gl
a  EEfUTe L 263, 2020
b, T TSR st 1. lSﬁHEIT 2019
c. sRuwEdas L 20 30T, 2020
d. ﬁvﬁ%ﬁs@&%ﬁzaﬂém V. 24%GEd, 2021
Choose the most approprtate answer from the options given below: ;..‘.,_51
3 fq o Rreed & warffares suge SaCl B
A) aIVbﬁicIIdI (B) aIbIIq—IIIdIV

(C) a-ILb- fidc-1v,d-1 D) a-1ILb- I,\ch I,d-II
(E)  Question no ﬁ attempted / TR I ~ .‘M;
Indira Gandhi Nahar Project (IGNP) is better known as the life line of - (CHoose the most appropriate option from

35
below)
(A) Southern RQasthan (B) Western Raj‘ajsthan
(C) EasternRaj a\sthan : (D) Northern R;jj'asthan
(E) Question nbt attempted
ﬁummwﬁﬁam(mﬁ S, @, o) @ Frfafea § @ e sgay, Eﬁ«T—r‘f@TmeGnaT%? (Fr= 3 & g9 IuE
(A) <t [T (B) uiEwfUsYH,
©) ‘Iﬁw&nﬁ (D) SO TS
(E) gaia o
36 Salt water crocod\b is main fauna of which of the following biosphere reserves?
(A) Panna ’ -~ (B) Simlipal {gy
(C) Great Nlcqbar (D) Kutch £y
(E) Question 1!19N attempted &3
@&wmm%ﬁw%ﬁaaﬁﬁmsﬂwﬁaéwmsﬁa%? B
(A) U= (B) Fmfomarer ¢y
© ﬁzﬁaﬂm ) (D) =7 &
(B) oTqafe Mgy =
37  Which among théfollowing is the longest river of Rajasthan? -
(A) Khari (Y) (B) Chambal ‘©
(C) Luni < (D)  Sabarmatj )
(E)  Question not attempted <
Frferfaa i & e A ged ot 7 A 6 R e
A) @ Q (B)  smre (89]
(€ =t 14 (D) o O
(E) ot 99 =
All]l & 4 s [ P.T.O.
—— T T e ——
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jate option from below)
38  The Thar desert comprises the desert triangle of three cities - (Ch(.)ose the “;OZLaizr_Og::erp
(A) Jaisalmer - Jodhpur - Bikaner (B) Ja.xsalmer ) '0 P 43
: b pal; (D)  Bikaner - Jaisalmer - Barmer
(C) Bikaner - Jaisalmer - Pali
uestion not attempted .
e e et ey Bor e, - (e g e )
(A) ST - U - s (B) - S - A
(C) TR - e - el (D) T - T - ATFH
(E) gaRa s
39 Whatis the food pattern ratio of GOZ and GOR in National Food Security Mission (NFSM) on wheat and pulse
launched in Rajasthan in the year 2007-2008? , - 2 A
T 5 7 2007;2008 s fovg e A ofe areht 3 gt e e e (@, O T, T, 3 R GOZ T Goy
H T % Y 1 ST
(A) 80:20 . (B) 60:40
(©). 50:50 D) 70:30
(E)  Question not attempted / TR 9%
40  Which of the following sector plays most important role in the econbmy of Rajasthan state?
(A)  Education Sector (B)  Industry Sector
(C)  Health Sector (D)  Agriculture Sector 45
(E)  Question not attempted )
TSTET T 301 3 & 30 1 8, areafiren v & onflen s shr e s 20
a) foemas (B) SEmaF -
(C) w=remay - (D) Hwam
(B) rgai@aws
41 Which of the following are cash crops of Rajasthan state? (Choose the most appropriate option from below)
(A) Soyabean and Cocoa (B) Cotton and Tobacco
(C) Teaand Sugarcane (D) Coffee and Cereals 46
(E)  Question not attempted
frafafea & & = = vorem tsa fr (3T HHA & (ﬁnﬁ%ﬂaﬁmﬁwgﬁ)
(A) ErTEiT AR HwRr (B) W AN TR
(C) =TT (D) IR IR
(E) rgafawx
42 National Rural Livelihood Mission (NRLM) is implemented to eradicate poverty for it meross fhe
Rajasthan state during the financial year 2022-2023.
(A)  slum poor ' (B)  rural poor
(C)  urban poor (D) tribal poor 47
(E)  Question not attempted
ﬁﬁua&zozz-zs%ﬁmﬁﬁmmmﬁmmaﬁﬁﬁmﬁmm.m_qa‘m)wm &
TRt 3 o for o a2 I
(A) it eia g (B) o fAdg
(C) =t fadq (D) S P
(B) gafe sy
Aann] ® - 10

Whic
(A)
©
(E)

(A)
©
(E)

‘Do
(A)
©
(E)
(A)
©
(E)

Natt
(A)
©
(E)
e

~

(A)
©
(E)

Col
(A)
©
(E)

&)
©
(E)

Fir
(A
(C
(E
Ty
(A
®©
(E

[P.T.O. A11]
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43

44

45

46

47

All]

Which one of the following is the oldest oil refinery in India?

(A) Haldia reﬁnery (B) Mathura refinery, A
© Koyall ref'mery (D)  Digboi refinery ¢ ) --;
(E) Quesnon not attempted e
ﬁwﬁfﬁaﬁﬁﬁwﬁmﬁaﬁmaﬁqxﬂ%? [
(A) e foprerlt @) wou e
© @i @y o femgd L
(E) ﬂfﬁfﬂﬁw ¥

‘Doddabetta is the highest peak in Tamil Nadu. This is a part of which of the followmg famous mountain range?

(A)  Pir Panjal Mountains : (B) Nilgiri Mountams ?
(C)  Aravali Mountains (D) Satpura Mountams
(E) Questlol{ not attempted {\

SSEEr aﬁ?ﬁﬁﬁwﬂwﬁ%wﬁmﬁﬁaﬁqmmmmwmm%ﬂ
(a) I @ Herde o
© Wﬁg{fﬁ (D) waggTuEeAr
(E) aqgaﬁgj 4 4
Nathu La Pass is situated in which State / UT of India? W
(A) ArunacIial Pradesh (B) Meghalaya £
©) Jammu and Kashmir (D) Sikkim s
(E) Ques’ﬂon not attempted p i“‘“
e T (22 T 3 o et/ i  ere 22 0
(A) STRUTERNRRT (B) HHTH @
(©) S STHTAR AP)  Taferm j
() ai@ys : . t
Colour blind pérson is unable to discriminate between : W
(A) Blue and green colour (B) Red and yellow ciglgur
(C) Blue and red colour (D) Red and green collour
(E) Question not attempted &
mﬁmmm@wﬁﬁﬁﬂvﬁ%mﬁaaﬂ%ﬁmﬁm% ;“j
a) it ® s
(c) T T (D) WAIETET oy

?J
(B) ERasd
(i, \O

First Indian spa;ecraf‘t which will carry 3 members and will orbit for 3 days in Sp'\ée is :
(A) Bhaskar3 (B) NISAR ¢
(C) Gagariyaan (D)  Spadex [
(E) Qucstﬁ)? not attempted :‘}*‘
sror STty SF=TEraT i1 3 Wawt i o S afe g Sfafer # 3 et 3 forg wdr < N’
(A) a3 (B) T ww©am M]
o T (D) P

(B) rgai@wd

11

®
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48  Which of the following is not the allotropes of carbon?

(A) Diamond (B)  Fullerene
(C) Ethanol (D)  Graphite
(E)  Question not attempted

frfefad 3 & H-a e w1 s Qg Td 7

(A) sEHS (B) A
L) | (D) IETEE
(B) rgafaw

49 Which Indian Constitutional amendment raised the age of retirement of a High Court Judge from 60 to 62 years ?

(A) 18" Constitutional Amendment (B) 15" Constitutional Amendment

(C) 16™ Constitutional Amendment
(E)  Question not attempted

o seltar wferer sreier 3 goar e 3 =it 6 fanfrafi A o1 60 o & =gTR 62 7 F A
(A) 1831 dfoum dxiem (B) 159t dferam dame

(C) 169t Gl dxiem (D) 173t dferm g

(B Sgaf@ws

(D) 17" Constitutional Amendment

50 Match List-I with List-II.

List-I List-II
a. Goods and Service Tax L. Article 82
b. Delimitation Commission - IL Prime Minister
c. Survey of India - II.  Dept. of Science and Technology
d. Dept. of Atomic Energy IV.  Article 246 A
FEll-1 % | g=h-11 1 fore sl
et -1
a. SR I 7% 82
b. i I L yueEes
c. YR T (|4 AT 3fem) m. o o fenfieh fanmr
d. S FH favm IV. 3T 246 A

Choose the most appropriate answer from the options given below:
et fow e foreredt & & waifaes Iugew STl

(A) a-I,b-1V,c-1,d-1I (B)
(C) a-IV,b-Lc-III,d-1I (D)
(E)  Question not attempted / JTTAId 9%

a-Lb-ILc-TI,d-1V
a-1V,b-1ll,c-1,d-1

51 The concept of ‘equality before law’ is an element of the concept of ‘Rule of Law® which was Propounded by -
(A) Ivor Jennings (B)  Paul Janet
(©) A.V.Dicey (D) Lord Acton
(E)  Question not attempted
T 5 TG AT ] ST T 35 76 2 STaHTIT 61 O el ) Eﬁﬁﬁﬂ%mwﬁmﬁaﬁmmw
(a) S (B) @S
AC) A (D) ®ISTERA
(F) FgaRamH -
Ann] ® : [ P.T.O.
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52 The_af:tual growth rate achieved in the 11" Five Year Plan was: (Choose the most appropriate option from below)
1 1 srerereftar it 3 et armerfarer g a0 s o e (Pt 3 & wary I fore )
Aa) 10% B) 9%
©c) 8% D) 7%
(E)  Question not attempted / AT w1

53  GST Council is a Constitutional body established under the following article:
] T AT AR U wauieh frr e, Rrareht werrgar Fretferfad i A R 31g=a & st i f 22
(A) 122 _B) 279A
(©) 184(1) (D) 247
(E)  Question not attempted / TR T

54 Which of the following tax generates maximum amount of revenue for the Government of India?

(A)  Corporate Tax (B) Income Tax
(C) Sales Tax (D) Custom Duties
(E)  Question not attempted

mﬁ%ﬁmm,wm%%qwmwmmm%?

)y P (@Rdie) (B) A
© R (D) TR
() Agaiays
55 Which of the following is outside the ambit of GST?
(A) Motor Spirit (B) Natural Gas
(C) Tobacco (D)  Alcoholic Liquor

(E)  Question not attempted

Frrferfiae & & i aeg o da o A TR § T

(A) are fafe (B) uHfa
«£C) T D) TEHW
(E) Iaiaw

56 Overwhelmed by the beauty of which of the following forts did British Historian James Tod say that - if he was

offered a jagir in Rajasthan, he would choose that fort ?

(A) Nahargarh Fort (B)  Chittorgarh Fort
(C) Taragarh Fort (D)  Bhainsogarh Fort
(E)  Question not attempted

frefefaa # @ fora fordt i gaar @ aafinga St frfear sfereTasrm v Sre 3 e fof, +af o= wrreer # frelt St AT

SreraraT 1 SO, e 97 3@ foRe AT ?
(A) AETIE fopem B) e frar
(C) annTg faEar (D) e frer
(E) @gafia a4
57  Which language is spoken in the areas of Banswara, Dungarpur and the nearby hilly areas?
(A) Shekhawati (B)  Hadoti
©) Mewati (D)  Vagri
(E)  Question not attempted
W,Waﬁrw%mm%%@ &yt 3 T ol ST e S @9
(a) F@mEret (B)  wrExd
(c) ‘ (D)  anre
(B) oTgaRa ¥ '
- ® 1 [ P.T.O.
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3 Vaid i i list?

58  In which year was Kalbelia dance form included in l.INESCO s intangible hel;lT:Tg;T;S
T ST w9 B e oy s fercrer et 3 o ad  wftnfra frr
(&) 2011 oy (B) 2008 ")
©) 2009 iy (D) 2010 S
(E)  Question not attempted / T W L™
£ | o
59 Fill in the blanz{ii_yith the most appropriate option : 9
T v 0 wrerdy st . o
9,28,65,126," .

4 il (B) 204 ‘
B (©) 206
E . eV »fvf
(E) Questlo{ge Igot attempted / TR T N
60  Inthe given

61

62

63

64

All]

question, choose the number letter

Qe o & e STER W T ST o1 & St )

i i
(A) OE3 oy «B) PH3 (#9)
© XL2 9 (D) IB5 55
(BE)  Questioniot attempted / 3TaRa w1 i
When was Raj;sthan Information Commission constituted ? &
(&) April 28, 2006 (B)  April 18, 2005 i
©  April 1855006 (D)  April 28,2005 &
(E) Questi o%%?iot attempted {y}
TSTET T Sﬁ%ﬁmmaﬁ‘gﬁm ¢
(A) 2831, 2006 ®) 183w, 2005 L
©) 183782006 @)  283dw,2005 O
(B) araiawsr S
~ H ) v ‘\:&1
Which of the following Position is nof mentioned in the Constitution of India? 4
(A) . Loksabha Speaker (B)  Prime Minister
(C)  Chief Minister . (D)  Deputy Chief Miniisjezr
(B)  Question ot attempted el
e 2 078 v 9 e e e 7 B a8 O}
I E ® <
©) TEmEt | D) STTEH [
® s =
Q Q
Who among the-following commonly serves as the

Chancellor of State Univemitieg?;
(B)  Prime Minister
(D)  Chief Minister

(A) Governgrd
(C) Minister of Education
(E)  Question{tiot attempted

({8
ﬁm%@aﬁﬁﬁa:mmﬁmﬁumﬁ%w&vﬁ%mﬁmm%? . ™
A) gl

-1

mﬁ 5w
©)  frer At (D) : __
E o 0}
(B)  srgaf 3

s . -
Geostationary sapg:llites are positioned at km upward distance from eartl,
¥

siie S S,l“ll‘face,
e ST ] T el vt et Sore o gt e o e 24 ;;

(A) 45990 (B) 1;2(6’88
D)

C) 36000 (

EE)) Question not attempted / 313?11’{3 oy

® ‘ 14

STUDY247. 1 N
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65  Concentrated nitric acid (aq) reacts with copper to give
(A)  Copper oxide and dinitrogen oxide (B)  Copper nitrate and hydrogen gas

(C)  Copper nitrate, nitrogen monoxide and water (D)  Copper nitrate, nitrogen dioxide and water
(E)  Question not attempted

15, T5feh U (aq) T (Fiww) & a1hifram ek ar 2-

(A) IR AT Tt STEARGISH iares (B)  HIYTATEIE UG ETRE -
(C) T ATEE, TEEIH WHTeRaTgS U it (D) T A2, TEZISH SEHFATEE U arft
(E) AIaRaws
66  Son river is a tributary of which of the following?
(A) Narmada (B) Ganga
(C) Yamuna (D) Mahanadi
(E)  Question not attempted
TR TR AR e gers TR
(A) T ®) Tm
© Fgm (D) e
(E) rgaRays
67  The Southern most Himalayas are known as ;
(A) Aravali (B)  Shiwalik
(C) Himadri (D) Himachal

(E)  Question not attempted

TR (G 3for femrera i fome A1 & ST Srar € 2

(A) EEh B R
© T (D) Twre
() ergaRaws

68  “aITer, YIsS TR W T IaTERT 22
(A) YEETER (B) EHEATTR
(C) =t (D) e
(B) i

69 T gfe & frar & qrrr: fha ST B 87
(A) 9= @ =
© (D) =K
(E) orguRasA

J0  fag aEra i gl 92 SO € €7
4A) #E (B) g
(©) @ ©) =g
® gERaTa

27 4T 3 i M ST ATl Head Fead o

" 1(%:;7 :qﬁamaﬁram (B) i v
© wem AD)  Fd yey
(B) et s

L r——TT T T —— i Ei s oo S
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-4
e

i It \ ()t b 3?
How many numbers from 11 to 70 are there which are exactly divisible by 7 but not by
(\)  Six

(B)  Nine

© l\;i\‘o (D)  Seven

(& ;
(®  Quiestion not attempred \0
us '(\:\‘(}3“\1 et s @ s 7 2 ko sy & KGRI LA
()R @ N e
© (D) W[
() b\&(ﬂﬁﬂ N 0

RR) .-\mn\nc! te tollowing words

according to dictionary arrangement: €.
TR et Yyt

AT I ¥ AR wpafterd AR

® TN e < )
a Except b. Expect
0 Excess d Exit
Choose

&h‘c ™MOost appropriate answer from the o

T R o ptions given belowd ()
< R gt Tl Suges s
I )
,(A'\ R d.b B) b, drc
© %\&}. d.c D) ¢, dfayb
(B)

Question not attempted / SRRIRGME)

Q0
ol .
74 Choose'the venn di

oy
agram which best illustrates the three

‘ given classes:
ST I T S R e o e v w2 3

Flowers, Red, Fruits. | v
R SSIE S
: : -
- QO
gar..,‘ .
©

(E)  Question not attempted / S’laﬁ'ﬂﬂ‘ﬁ’ﬁ .

o @D
=i
75 Which OFthe followin

€ two states have a joint plan under Mahi Pro'es ? .

(A) @mlhm - Haryana () Rajasthan - Madhya Pradesh
(C)  Rijasthan - Punjab (D) Rajas&;an - Gujarat
(E) . u‘estion not attempted B
Freaferfiaey 3 & e 2 crost 3 wreh R s g e 27 .0
(&) T - g (B) TSI - e R
(C) USHMF - 9

(D)  TSTEATY - ISRTT
(E) §§‘aﬁawﬂ el
76 The chidftteristics of computer in which, computer can pcrformc&éffcrent types of tasks With the same ease is
known &8 O
(A) Diligence (B) SPGJH! .
(©)  Versatility (D) Rehflzll"y
(E)  QUestion not attempted o0
wmm.mﬁ&ma,wwaﬁ:ma:mmmu A Bt e 4
(A) g (B) by
© g @) R v
(E) rgaRawx
All] ® 36

[P.T.O.
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77  Select the related word from the given options : '
Animals : Zoology :: Blood : ? '
(A)  Entomology (B) Hematology \
(©)  Pathologyr (D)  Anatofy )
(E)  Questionmot attempted X8
o T et 7 R st wroe w1 = iR ()
STHST W’)tm :? el
(h) wEmE ® fdeEsh |
(C) W ?"i (D) m‘rgﬁr LU
(E) rgafa warl
78 628,429, 183,249, 416
From the above Sequence of given numbers, what is the sum of the unit dlglt of third number from left and tens digit
of the fourth number from the right?
waﬁnﬁw@%mﬁ aﬁﬁaﬁtmﬁm%wﬁmaaﬁﬁaﬂmﬁm%%ﬁ 3 HT A R?
Aa) 6 L0 _(B) 3 .
© s © ® 7
(E) Question?h:(it attempted / 3TNT ¥ ‘ {
79  Sushil is the son-in-law of Bhumi’s maternal grandmother Sangita. Ravi 1; the only son-m-law of Bhumi’s mother.
How Ravi is related to Sangita?
(A) Brother-lfl law (B) Grandson L *
(C) Uncle ¢ ‘ * (D) Husband 0‘; granddaughter
(E) Questlonf;St attempted .
gsﬁauﬁ(ﬁm? mm%nﬁwﬁﬁmm@mm%mﬁmwﬁmﬁwm@
(@A) qu Sl 3’ (B) =
©) Dy uErFErafa o
(E) agaﬁ?rsm .
80 ‘Who among the &fqlowmg established moblle reading rooms and hbranes at various places in Rajasthan?
(A) Komal Kg;han ) (B) Pt. Jhabar Mal Sharma
(C) Acharya u131 (D) Swami Keshwanand
(E) Questlondlo;t attempted gy «g
ﬁq‘%&@aﬁﬁﬁ?@mﬁ%ﬁﬁ?wﬁmﬁaﬁawm@mﬁmﬁ?
(A) Waaa;rg (B)  ufvead ST et vt
©) = S (D) @ hEED
(E) HaRawd gnd
({8 Yo
81  Which of the follswing leaders led the Bijolia movement?
(A) Surendra'Singh (B)  Vijay Smgh Pathlk
(C) Chuna RAni Punia (D) Kanwar Vx_]ay Pal
(E) Questionrn{gt attempted P
frrferfaa o & frer Refferar stidier a1 e fFm ~
a) gafe v (B) ﬁwf%ra'qﬁm
© suEyfE (D) Wﬁm‘n&
(B) orfaRasE e
All] ® 17 [ P.T.O.
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82 Barkana water falls is situated in which of the following state of India?
(A) Odisha (B) Karnataka

(©)  Goa (D)  Tamil Nadu
(E)  Question not attempted
Frforfiam Tt & & simear 3 o Trowr e srenr R 27
(A) ffemm (B) Al
(C) Trar (D)  dfierrg
(BE)  rgafawe :
83 Which of the following mineral is non
(A)  Graphite
(C) Coal
(E)  Question not attempted

ﬁmﬁw%aﬁ%ﬁqm@ﬁamlﬁamqémﬁﬁﬁsﬁ%? 3

-metallic and inorganic?
(B) Natural Gas
(D)"  Petroleum

A) AeEe (B) wTehfaes g

(© Hgen (D) Adferaw

(E) rgafaay 8
Read the Passage and answer the questions that follow: (Q. 84 to 87)
Show

me a doctor who is not confused about nutrition and
Though nutritionists like to claim that basic nutritional advic
brings new studies, new research and new health warnings
contradictory and further confuse lay people.

Part of the problem is that many studies are financed b
much of the so

I will show you a doctor who has not kept up with research
e does not change from year to year, the truth is that each weel
- Nor do all the studies agree with each other. Often they ar:

y the food industry,
-called nutritional wisdom that has been propounded over th
out of the commercial interests of those passing on the advice.

The most famous example of this sort of thin

breakfast is the most important meal of the day. Skip breakfast
for your health.

which has a vested interest in the outcomes. An¢ 89
e decades does not emerge out of pure science bu

You can trace the roots of the advice to (surprise, surprise!
Kellogg family (owners of the eponymous cereal company)
It has always been a peculiarly Anglo-Saxon idea. Peo

) the American cereal industry and to such food faddists as th

peaking countries.
ildren sugary cereals and stuff like pancakes with suga
syrup (often misleadingly packaged as maple syrup). There is finally a recognition that the breakﬁ\st-is-essential myth has
actually contributed to a decline in American public health, the obesity epidemic and to tooth decay. Manufacturers o
sugary cereals are quickly putting out new ‘low-

sugar’ variations.
Some doctors still insist that the fi

rst meal of the day may be the most important. But the scientifi

¢ evidence supports the
view that if you avoid breakfast nothing terrible will happen to you.
84  Complete the sentence by choosing the correct option: 91
In reality the benefits from advocating the need for taking breakfast,
&%) food Industry (B)  general public (
(C)  French people (D)  children G
(E)  Question not attempted a
All]l @ 18
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85

86

87

88

89

90

91

TN L S A

According to the conclusion of the passage, breakfast -
(A) Contributes to an individual’s health. (B) Is essential and not to be skipped.
~C)  Skipping Ca“"g{baml you. (D) Is the most significant meal of the day.
(E) Question not attemptcd ( Y ',
In America, obesity and tooth decay have assumed the proportion of an cpldcmtc bccausc of the -
(A)  Consumption "f ‘savoury food (B)  Vested intcrest of'the general public
L) Consumption «‘Lfﬁ“b"ry cereals. (D)  Greek idea of bréakfast.
(E)  Question not attémpted v
i i
Bogus means .
(A) Confident Tn) B) False Te)
© B M @) Tre ()
(E)  Question not attempted g
- -~
Identify the most appropriate idiom which can replace the underlined words: 49
Rohit has the reputation of complicating and confusing things when any issue is‘raised in the meeting.
(A)  got our wires crossed (B) asclearasmud ¥ '
<€) muddying the SWwaters (D) incomplete shambles
(E)  Question not attempted
W {2
Which of the followifgifacility is mainly provided by E-mitraplus initiative of Kﬁﬁsthan'?
(A) Video conferencing <
(B) To apply for biith certificate, domicile etc. i:”
(C) Payment facilfty for individual firms ' ) tﬁ
(D) GIS based Detision Support System Cji
Question not atfempted L
ﬁm%@auﬁﬁqmaﬁmq@a mﬁﬁ%ﬁﬁwwmmaﬁw%‘i
(A) i FEERT (B) = WHIOT =, ftram & fog e u
(C) fafire feri slsrar i gl & (D) ft. 3T, wm, amufa fofa weraes womedt
() saf@wd (V] ; M
< -
Which of the followibg-input device is used to input temperatures and moistare E:TE"’
(A) Sensors (20 (B) Webcam LJ
(C) Scanners - (D) Joystics a -
n not aﬁem ted !
e i oo 7 T T S ST 1 () o v s 9
(B) aAw¥w .
G et W D) SiafeFy =
(C) o o ( ‘ M
(E) aqgaﬁaw ! <
. [~
Identify the word thawn best substitute the given expression: ?;)

One who is too strong‘ty be defeated.

(A) Invincible ;,' (B) Invulnerable  yf
(C) Indefatigable ,.{ (D)  Insolvent i
(E)  Question not attempted

19

All] ®
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92

93

94

95

96

97

98

All]

. - v clow:
Identify the most appropriate antonym of the given word from be

APATHY N

(A)  Fervor (B)  Stoicism
(©  Stupor (D)  Aloofness
(E)  Question not attempted ¢

Choose the most appropriate option from below to complete the sentence:
A formal letter concludes with a -

(A)  Heading
(C)  Salutation
(E)  Question not attempted

(B)  Subject
(D)  Signature

ﬁwﬁﬁﬁmﬁm%mﬁa%ﬁ%mmﬁmm%mm%ﬁwﬁ{tmzﬁmiﬁiiiafaﬂm%?

(A) T REm, 1976 (B) T sifufam, 1963
(©) T iy, 1967 (D) T fw, 1973

(B) rgaf@wsy

e T, e 3 & R Seft 3 R smar 2o

(A)  HTEY (B) I TRY
(€) w"EHTE (D) AW
(E) Igaf@wx

Which of the following language is not included in the Eighth Schedule of the Constitution?
(A) Santhali [ (B) Nepali

(C) Sindhi (D)  English
(E)  Question not attempted

ﬁn%ﬁgaﬁﬂaﬁqmwéﬁuﬂﬁmwfm@aﬁ%?

(A) goredt (B) Aureht

(C) fo=ht (D) s

(B) rgafayy

Who was awarded Major Dhyan Chand Khel Ratna Award 2022 for Table Tennis?
(A)  Soumyajit Ghosh (B) Kamlesh Mehta

(C) Manika Batra (D)  Sharath Kamal Achanta

(E)  Question not attempted

For e sht eren 2five ¥ Ao e i e Tt R 2022 aR R T
(A) Hhasfia g (B) WA REan

(C) wfFsTaar (D) YR AT I<iar

(E) erqaf@uy

Which one of the following is not a Fundamental Right under the Constitution of Ing;
(A) Right of Freedom (B)

(C)  Right to Property (D)
(E)  Question not attempted

Fretferfiaa & & = a1 vl vferar 3 e e st gt 8

(A) w@daan 1 afier B) e Aifver
(C) Hufd = aifmmr (D) TWIHaT T 3Ry
(E) rufau

® ' 20

a?
Right to Education,

Right of Equality

[PT.
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99

100

101

102

103

104

Al1)

Choose the most appropriate option to complete the given sentence.

They withheld his results. He the proof of his age.
J  doesn’t furnish (B)  has not furnished
(C)  had not furnished (D)  didn’t furnish

(E)  Question not attempted

Choose the most appropriate option to complete the given sentence:

There was knock on door. I opened it and found small dark man in blue overcoat and
woollen cap.

(A) a,a,the, the (B) a,the,a,a

(C) the,a, , the (D) an,the,an,a

(E)  Question not attempted

Which of the following three years were declared as Plan Holidays from five year plans in India?
(A) 1969 to 1972 (B) 1957 to 1960

(C) 1961 to 1964 (D) 1966 to 1969

(E)  Question not attempted

W daadTa SR § & Fe & B & i aut s e 7T st foRar I or?

(A) 1969F 1972 (B) 19579 1960
(C) 1961 1964 . (D) 1966 & 1969
(E) IJaRawd

Dr. Savita Ben Ambedkar inter-caste marriage help scheme was launched in the year-

<7, ST 3 oTea s fraTe T e frEferiad 3 & i ad # yroey i oft?
(A) 2012 : (B) 2006

(C) 2007 (D) 2010

(E)  Question not attempted / ﬂgﬁﬁﬁ' o

Rajasthan handicraft policy has come into force on

(A) 23 November, 2023 (B) 17 September, 2022

(C) 18 September, 2022 _ (D) 20 December, 2023
(E)  Question not attempted
TSTEdT gy Cakc gl

(B) 17 f&dsw, 2022

(A) 23 7&K, 2023 )
(D) . 20 feEsw, 2023

(C) 18 fadsr, 2022
(E) fgaf@ay=

(Choose the most appropriate option from below)
(B) 1# January, 2014
(D) 15" August, 2015

NITI AAYOG was established on:
(A) 1% January, 2015

(C) 15" August, 2014

(E)  Question not attempted

<A et B e o 1 it (P - ey 3 e )
(B) 1M, 2014

(A) 1sFEd, 2015
(©) 153714, 2014 (D) 153771, 2015
(E) rgaRa
® A, [ P.T.O.
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105  Choose the correct combination from below:

(A)  RRB - Agricultural Finance (B)  IDBI - Shoft/Term Loans

(C) RBI- L‘“fgt}crm Loans (D) SBI - Morictary Policy

(E)  Question f{)g attempted J‘“

et bt et ) e »

(A) TR W Ak 5 e (B) 3, <, o oqrs, - arewifer® A0
(©) ot s, AE- defeprferes wor (D) . &ft, sy shfas A

(E) Hﬁﬁﬁwﬁ"' i

n 19917
106 How many mdmmcs were reserved only for public sector before the dcr%uhtlon of the Industrial Sector i

(Choose the most.&ppropriate option from below)

1991 ¥, ﬁﬁﬁm&%%%ﬁm@mﬁ %aaaﬁaﬁmm%%qﬁﬂﬁmmﬁmﬁf (P i @ e 3R fae )

@ 17 . (B) 20
© 14 g; (D) 24 vl"
(E)  Question not attempted / FARE 521 ::;
v ’ v={
107 S8 & -1 Sroq-+31f it il = 22
(A) Siedes . (B) \ﬁq\q O
© T W ®) T ey
(E)  I7ui@ ) w
\\i‘ ’ E\\'
108 ﬁﬁwﬁqw% sz;)
COC I ﬁmﬁ@wmmmm%wmmél =
T - 11 = form (g 3 era sl & aref r o sft Ao :’
wﬁwmﬁ%m@gﬁﬁmﬁ%ﬁﬁﬁﬁwﬁaﬁwwaﬁ e
(A) U1 e €, e R 11 9 R (B) mlaﬁtnaﬁmﬁ%
(©) WIS T (D) mm&"r ﬁﬁmllﬂaﬁ%l
(E) mgﬂf) ::15
'tﬁ I~
109 forforfiaa i & bt eafat s § b o)
a. @g b. W )
A ™
c. ﬁ?‘q ¢ -
€. qH
ﬁaﬁvnqﬁm—«tﬁﬁﬁmﬂbmmmwm?ﬁﬁq W
(A)  Faab,dHdite (B) A b, c Y d
©) Wa,c\sﬁ?e (D) aﬁﬂu.d?jc
" us:‘ Q)
O
110 ‘Deputation’ m%f%é}ﬁmpfq;mg !l
&) frafa ) skl
© frfw r~l () wfayfa
(E) wrgdf@uy
All] ® 22 [ P.T..

T ——
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111

112

113

114

All]

frafoiea # & snfvdier @ ge s e-
A)  efsfae (B)  3whfae
(©) e (D) awfife

(E) SfguRausw

Cooperative movement in Rajasthan region was started in the year _______. (Choose the most appropriate option

from below)

TSTEH 8 H HEhR A Y AT ad i g8 | (P 7 & Tl 39 e )
(A) 1914 (B) 1904
(©) 1910 (D) 1912

(E)  Question not attempted

Given below are two statements:

Statement (I): Sodium metal is stored in kerosene oil because it is highly reactive.
Statement (II): Sodium metal reacts vigorously with nitrogen.

In light of the above statements, choose the most appropriate answer from the options given below.
(A)  Statement (I) is incorrect but Statement (II) is correct.

(B) Both Statement (I) and Statement (II) are correct.

(C) Both Statement (I) and Statement (II) are incorrect.

(D) Statement (I) is correct but Statement (II) is incorrect.

(E)  Question not attempted

i & e feg T

T (I): Bfeaw arg i g & et 3 sl fram smar @ =it 7 sttt sfafeares dar i
HT (I1): VT €1 ATg2ISH & YareraT & SffHar T 2l _

I9Ih AT 3 ST §, A9 R g fshedl § & @a@ I9gw S Al

(A) o (I) TTeTd & e U (11) T R (B) FUA (I) 3R FH (1) =1 Tt 81
(C) = (I) 3 YA (1) ST & 71T &l (D) U (1) 98 & SferT FU= (1) T /1
(E) gui@ysd

Cyber security is also called, “Security of Information Technology™. It is used mainly to:
(A) Used to send letters by post '
(B)  Connect different computers together
(C)  Used to share the resources on internet
(D)  Stop unauthorized access into various computers
(E)  Question not attempted
A guan @, cgEw deafidhy @ g, M FE oS & e swm el st & R R
ST g:
(A) i %I 2T BT WS & forg
®) o et 70t vw-gat & g
(C) TR T FY 3w i aied i waw & Y
(D) R gt & srafir g A de ¥ R
(E) AuRaus
® % [ P.T.0.
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115 In which ye

ar the Indian Space Rescarch Organisation (ISRO) was set up?

ﬁw%%aﬁ%ﬁmaﬁ?ﬁmﬁnﬁaﬁaﬁﬁmm (ISRO)ﬁWﬁﬂé%ﬁzm
(A) 1952 QJ:'? (B) 1962 AR

: ()
a4y "
(E)  Question no{:f\_llcnnﬂcd / Cﬂfﬁfﬂﬁ o4

64 }
116  Which of the f()ll(m\'s\:mg facility is not provided by the Rajasthan Sampark Portal?j

(A)  Automatic épc‘cch Recognition (ASR) (B) * Gricvance Rcmgﬁ?;“ l
©) GIS intcgrafi&1 and data analytics (D) vidco-confcrcn%ifjg
(E)  Question no‘t‘;ttcmpted
ﬁw%%aﬁ%aﬁq%ﬁgﬁmwmm%mmwﬁzﬁm%? 0
~A) SN wi fefve (ASR) (B)  frhrarii =it forera

(©) St 3T, oo sk sriet e s (D) e ke «y
(B) 7 war

pamss

o0 &
117 Fill in the blank by'choosing the most appropriate option: ey
e | .

He was indignant ¥ being cheated by the smooth talk of the salesman. j

(A) at . ' (B) with o

© in D) of s

(E)  Question no%empted ‘ -

(3] g

i
118  Change the direct sg:gech into indirect speech by selecting the most appropriat

e;option from below:
He said, “I do not wish to see any of you, go away.” &5
S et \}\,

(A) Hetold thatthie did not wish to see us and ordered us to £0 away.

~AB)  He said thatthe had not wished to see any of them and ordered them to go*aivay.

(C)  He told that'hi@ did not wish to see any of them and ordered them to go a%’y,
(D)  He said that he does not wish to see any of us and ordered us to 80 away,
(E)  Question notéttempted ' ($n]
™1 M
119  Change the sentence into passive voice by choosing the most appropriate optioﬁ
They feed the sealsr';lhe zoo twice a day. ‘ "Mﬂ
A%)  Twice a day e seals are being fed at the zoo. (B)  The zoo feeds th:féea]s twice a day,
(C)  They feed tQ%e?ls twice a day at the zoo, (D) Tl3e seals are feq.t»}'ice a day at the zoo.
(E)  Question notaftempted |
120 In Rajasthan puttin‘gg gold nail between the teeth is known as:- L"D
(A)  Borla 2;3 (B) Daamna Q
(C)  Baari by (D)  Choonp N
(E)  Question notaftempted 0¢)
TSTEAT 3 2t 3 ol A i et ) ) e @ o e S 82 ¢y
A w@wm (B) @ 4
(©) o (D) v
(B) rgaf@us
Alll ® ‘ 24 l P-Tjo'
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121 In which Rajasthani folk dance, dhol, bankiya and thali arc used as the main instruments?
(A)  Gair (B) Ghudla
(C) Chang (O (D)  Dandiya
(E)  Question not attemficd

TSTEIH mmmammwmmmwmwmm“fmm{”

O

™M

(a) ™ ™ (B) & i 0
() = ‘,* (D) sifean e
® @ )

5

- ol
122 Where is Nataniyon Ki Haveli situated?

(A) Lakshmangarh 0 (B)  Jhunjhunu Lo
(C) Churu ﬁ (D) Jaipur M
(E)  Question not attempj;)d s
qmﬁrﬁaﬁraéﬁm?qtﬁ?fi%? P
(A) TEEIG O (B) FFL co
© & o (D) AT o
(E) guRa s i =

- i

123 Name the person who went on a fast in 1952 demanding a separate State of Andhra and died during the fast.
(A) B.P. Sarabhai 1U6] (B) Potti Sriramulu O
(C)  Sriram Gandhi  {¥} . (D) Ramlal Gaya ,(.::A:
~N

(E)  Question not attempted
39 Sl &1 A Farge,Sr 1952 # ek 317y T 3 T & [T SR WA T 9, eﬂt%?m%aﬁm‘a’rsqﬁqwé
m >

T o >
(A) =t Ot grTd S{ (B) uE R o
(C) et i (D) THeTS T “__;
(E) Agaiayd ' '
D 0
124 Given below are two state{x;eints: ™
Statement (I): In the contf:xt of the revolt of 1857, the term revolt refers primarily %3'the uprising of the civilian
population. ™ o >

Statement (II): Mutiny Was a collective disobedience of rules and regulations withirf-the armed forces.

In light of the above staterfients, choose the most appropriate answer from the OPtiOHS(;}’e“ below.
b

(A) Statement (I) is incorfect but Statement (II) is correct,

(B)  Both Statement (I) Hid Statement (11) are correct. i
(C)  Both Statement (1) and Statement (II) are incorrect. l
(D)  Statement (I) is cor}gt but Statement (I1) is incorrect. ‘:ﬂ
(E)  Question not altemp; 'd ::3

“.

frr 31 Fua fru o € P o~
o (1): 1857 % fa5e (feeh) o e i fodts 2o o1 et e snfen st 1 e < 8y
awert (11): Frste (=afereth) wargy st 3 sfter Fent sie fafroit 0 wmpfes sagi el (o

S A 3 ST H, H fv mu foreedl i @ TR ITGE IO v
() F (1) e & e (1) we d (B) T (1) St e (1) 2¥ithere 3
(©)  FE (1) 3 F (11) 3 e B (D) 0 (1) et & S e (11) ey
(E) - egaRa s
All]l & 23 [P.T.O
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i iven by henna?
125  Which of the following is responsible for the dark brown or reddish colour gl
(A)  Hydroquinine (B)  Luciferin
(C) Melanin ([)) Lawsonc

(E)  Question not attempted

A T T M v s et 23 g e i 4 frsiare e 82

(A) TEgfRETE (B) e
(€ denfw (D) <EH
(B) ¥{uia ws

126  Zinc reacts with dilute nitric acid (aq) to give
mm%%ﬁmﬂim A (aq)ﬁ'ﬂﬁlﬁﬁl’l’éﬂ%
(A) Zn(NO,),+NO+H,0 (B)  Zn(NO;),+ H,0+N,0
(€)  Zn(NO,), +H, (D)  Zn(NO,), + H,0 +NO,
(E)  Question not attempted / T4 94

127  Which of the following is not a part of chromosome?
(A) Chromatid (B) Satellite
(C)  F, particle (D) Centromere
(E)  Question not attempted

FIHTE (o) T Frefafaa § & S5 8o R oim) 786 &

(A) wmfes (B) FemE
(©) uF iéwa (D) HAFRR
(E) guiayd

128 Which of the following is not a Kharif crop? -
(A) Rice (B) Maize
(C) Pearl-Millet (D) Gram
(E)  Question not attempted
Frefefia & & 2 v @ e T 7
(A) 97 (B) W
(C) =~T (D) T
(E) 3srafaug

129 If‘threat’ is coded as 289512, then *BRIDGESTONE® will be coded as:

TR “threat’ 1 %1€ # 289512 e farar S &, it *BRIDGESTONE® 1 1 gy,
—tA) 29947512655 29 (B) 27947513855
(©) 29947612955 (D) 28947612855

(E)  Question not attempted / syt wa

All]l @ 26 [P.TO
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Amar and Akbar start walking in opposite direction. Amar walked 24 km and Akbar walked 7 km. Then Amar turned

130
left and walked 7 km and Akbar turned right and walked 24 km. How far is cach of them from the starting point?
(A) 3lkm . (B) 27km \O
(C) 25km i:( y (D) 26 km ™M
(E)  Question not attempted ("3 b &
7T AT 7R A fadya R o '{ﬁm g faart | a1 24 o, ofy, e sl st 7 fop, ot vrei'rfr eeeraTer A A qET A
7ﬁ?ﬁﬁ.maﬁtmaﬁg§?{w4ﬁa o, et | A o e fig @ e gl iy OO
(A) 31 fw P By 27 fF . ‘j:
ey 2sfh. ot (D) 26 FF. T, :
(E)  rgala ws - o
131 A, B,C, D, E and F are sitting i irow facing north. E and F are in the center, and A and f?{airc at the ends. C is sitting
on the immediate left of A. Whe's sitting on the immediate right of B? <f'
A, B, C, D, E 3 F U ufts § Intsht 371 7@ otk 43 € EsfRFaz i s A aﬁzs-mrrr%l C, A % 2% 9t w417
AT 1 B & 3 <A T W H3T 272 o0
@ D - B) E o
© A Q ®) F i
(E)  Question not attempted ﬁﬂjﬁﬁﬁ pee o |
132 Select the option that is related to the third letter cluster in the same way as the second lektgr cluster is related to the
first letter cluster. v
ﬁmﬁ%wﬁmwwﬁﬁmﬁﬁm wmﬁmmwﬁm%mmﬁm{%ﬂm@m He AR H
352ty i) S
\g’rgUNDS DNOSUW : : ALMIGHTY : ? o0
“GILHMATY (%) (B) AIGHTYLM. o
(C) AIGHLMTY (&) (D) AGHILMTY il
(E)  Question not attempted ﬁﬂaﬁﬁﬁ 94 -
i
133 There is a definite relationship between figures (i) and (ii). Establish a similar relationship between figures (iii) and
(iv) by selecting a suitable ﬁgu‘i‘e:jfrom the options. So select a figure from the options it would replace question
mark (?) m <3
FTFA (i) F (i) 3 i o Fafara wery 21 fordred 8 & I ST T 9@ 0k AR (i) (iv) F ofrer 7o wal
wrﬁamm%qﬁm?ﬁﬁﬁumﬁmwaﬁa}(?)ammwﬁl o
Problem Figure / 9&T 3TTEEﬁ o
t «! i
Ol@|OF? -
|\
\0
(i) (ii) (i) L& (iv) ™
") it
A = B) é% ™~
2 ™~ - <> o0
8] -
) ™
B F @
i
(E)  Question not attempted / 3 fd ¥4
All] ® 27 [ P.T.O.
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19 " : ’
ing its denominator by 8%, the fraction become,
134 On increasing the numerator of a fraction by 15% and decreasing its denominator by 8% §$- 1

16
the original fraction is:

15 ., :
, : it i o W — B S ¥
R e 1 % st 150, agn e s she g a A 8% e fn st firs A 16 Ty,
Hfom -

(A) % (B) %
« Y ™ %

STUDY247. 1 N

(E)  Question not attempted / Wﬂﬁﬂ'ﬂ a1
135 Amit, Sumit and Vinay divide an amount of 2800, amongst themselves in the ratio of 5: 6 : 3 respectively, [y E
amount of ¥ 200 is added to the share of each, what will be the new ratio of their shar\cs (zfthc.ar‘r-lount? )
S, fer o formar 2 2800 A wrrfra 5 - 6.+ 3 % w1 ¥ i o ) aft v o e i 2 20091z fry
arufr & 3 et whr STAT T By
(A) 4:5:2 B) 6:9:4
A€] 6:7:4 (D) 7:8:5
(E)  Question not attempted / 313;?!1:{?[ aT
136  Who was the Deputy Prime Minister and first Home Minister of Independent India?
(A)  Rafi Ahmad Kidwaj (B)  Mahatma Gandhi
(C) C.Raj Gopalachari (D)  Sardar Vallabhbhai Patel 1
(E)  Question not attempted .
Hﬁaum%%ém-wmaﬂtqﬂsﬁaﬁw%?
(A) vt sreng foread (B)  waTeAT et
(©) . T Traremary (D) TER I Ty
(E) gmf@wy
137 After the partition of India in 1947, which of the following archaeological sites remained on the Indian side ?
(A) Kalibangan (B)  Harappa
(C)  Mohenjodaro (D)  Gunveriewala
(E)  Question not attempted
1947 & m%ﬁw%mﬁwﬁ—rﬁmﬁ@rﬂqmwﬁﬁwﬁm%m% B gy o
(A) el (B) g -
(©€) s (D) Tiyeren
(E) wqeafmay
138 Who is the family deity of Bikaner royal family?
(A)  AaiMata (B)  Kami Mata
(C)  Jeen Mata (D)  Sakraya Mata
(E)  Question not attempted
AT BT USTAATE Ay ey 39
(A)  sménm (B)  oft
(C©) ST amEn (D) HHIR HAT
(B) oquafeaug
Alll ® 28
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140

141

142

All]

Poona
(A)
(B)
©)
(D)
(E)

Pact 1932, was associated with which of the following Leaders?
Mahatma Gandhi and Dr. Bhim Rao Ambedkar |
Mahatma Gandhi and Muhammad Ali Jinnah

Dr. Bhim Rao Ambedkar and Muhammad Ali Jinnah

Mahatma Gandhi and Pt. Jawaharlal Nehru

Question not attempted

o awE, 1932 Refefaa 3§ & e Xared @ waift ar

A)
(B)

wETeHT TiH 3R erre vl R

(C) =i e apisaR ud yewg et R

D)
(E)

Jgaia ux

Who established Depressed Classes Association?

(A) Muhammad Ali Jinnah (B) Mahatma Gandhi
(C) Dr. Bhim Rao Ambedkar * (D) Jawaharlal Nehru
(E)  Question not attempted |

3fera et wreA, forem wenfia famam?

(A) TEHTE 37l R ‘ (B)  wETcH et

(C) Sifiug smieat (D) ST AEE
(E) gaiaus

SVAMITVA Scheme is associated with

(A)  Soil conservation in rural areas.

(B) Water conservation in urban areas.

(C) Demarcation of inhabited land in rural areas.
(D) Property survey scheme in rural areas.

(E)  Question not attempted

(A)  TITeoT SRt 7 e ST HCT

(B) Y&l T A S HE

(€) T SeTeht 3 STrEE MfH T HHIET

(D) TrTefior TRt 3 TEafR EET ArST

(E) Fafayd

National Panchayati Raj Day is celebrated on

(A)
©
(E)

@A)
©
(E)

®

Tt e T feaw ) T S 8

(B) 20 April

26 April
(D) 24 April

22 April
Question not attempted

B) 2037

26 30
- (D) 24 3da
AN T2
' 29
N
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143 Which of the following is not a Constitutional Body?

(A)  National Human Rights Commission \O
(B)  Union Public Scrvfc‘g’Cmnmission (f')
(©)  Finance Cmmnissi&f\j __'EI
(D)  Election COI]]II]iSSi;j" &p
(E)  Question not aucm})t\t}d ;{)
e g 87 -
(&) Tt wafiT sy ol
(B)  WeT Sl dar sy, H
(© fam omam .
D) FEIET g has
(E)  Stgafa war ™ bl
< R
144 The simple interest of a certain sum of rupees for 8 years at 7.5% annual rate is T 750?, AN hat is the simple inter,,
same sum for 8 years, if the rate of interest is increased by 2.5%7? ‘:3
afR 7.5% e s B Y 8 et wm URT OO 7,500 BTEROT ST el @1 4fe It ST T =T 2.5% 721 o
T 8 quT i mwmwf@rm i
(A) T 12,000 ‘ (B) ¥ 20,000
(©) R 12,500 O AP) % 10,000 Lo
(E)  Question not attemptad / AT 7 M
=f =5
145 & U & S0 % g A e ey ey m&a‘raﬁwﬁ%mm@mmwémﬁg\
A) TR x B) wTEER 0
«C) @t S D) Ew ‘f’g
(E) af@us r“i ~
146 ﬁnﬁrﬁaaﬁ&‘ﬁaﬁwmﬁﬁmﬁdﬁrﬁ%z%- O
(A) T+ amew m (B) o +omy m
©) fem+zw = O) fg+amy o
(E) rgafus [ >
0 (§3]

147 Which of the following stitement is not correct about th

(A) This region owes il‘s’ticvelopmcnt to being rich
Valley.

¢ Chhota Nagpur Plateay lncfl;s\rial region?

in iron ore from Jharkhand-(‘iﬂsha and coal from Da*
™

(B)  This region is popularly known as “Ruhr of India™. ‘ L
(C)  This region extends_'%qver Jharkhand, Chhattisgarh and Andhra Pradesh, \D

(D)  Ranchi, Dhanbad, J aibasa, Sindri are some important industrial centres of tttg's region,

(E)  Question not attem ted l':*

ﬁmﬁﬁmmm@awwaﬁtﬁﬁmm%mﬁﬁmm%} o0

(A) W@imﬁmm}g}-@ﬁmﬁmsmaﬁwnﬁarﬂra?ﬁﬂﬁﬂﬁﬁmg‘]ﬁ"m§mm

(B) T & 1 & wyey, A @ foveama 8 v

(C) ¥ &7 wde, wefiging sh 119 W3 wreh B gt ) v

(D) T, Wi, v, e, ar 8 s g sfveifes o

(B) rgaf@um (
Alll ® 30 e

el
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148  Which of the following statement is not correct about the Tertiary Coal?

A)
(B)
©
(%)
(E)

It is found in the rocks of the oligocene period of the Tertiary Era.
It is also known as the brown Coal,
It is an inferior quality Coal.

It contributes to about 25% of the total coal production of the country. |
Question not dttcmptcd '

foreferiad & @ W A1 e el wrret ¥ e i w78 2

(A)
(B
©
()]
(B)

TR T I % A et o sz & g smar 21
TR [T BT 6 9 Y ST v 2

Tg F T[T o e dar )

TE 31 % G AT IeqTEA & 25% 7 7= a1 21
A 9

149 Karewa formation are useful for the cultivation of

(A) Coffee '

(B) Zafran/Saffron ' ~
(C) Cotton

(D) Jute f
(E)  Question not attempfed

HET ST (BH) oraeht Tt & fag st 22
@ w& . 2
(B) W

©) ==

(D) =

(B) wrqaRa s

150 Which of the following river is right bank tributary of the Ganga River System?

(A) Ghaghara
(B) Ramganga
(C) Son ’
(D)  Gomti f
"(E)  Question not attempted
e i & b eft 7, sy sy st 61 e e T4 82
(A) =g
(B) T
C€) =m
(D) il
(B)  srgafaug
All] ® ; 31
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